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Time: 10 Minutes | Paper Math 8 (T-3) |  Total Marks: 10 |

| 2nd Month, 3rd Week, 3rd Day | Exercise: 1.17 Q # (6,7.,8) |

Q.1. Choose the correct options. (1x4=4) -U /';«G:"K?U?MJ)
(i) In 25 minutes a train travels 10 km how for will it travel in 5 minutes?
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(i) A car travels 200km in 5 hours. How much time it will take to cover 600km?

Wil L5 b hobred 6002 3/E tu 5 hobgRE 200,640

(@) |13 hours 2 13| (b) |15 hours £ 15| (¢) |17 hours £ 17| (d) |19 hours £ 19
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(iii) A 12 meter flag post cast a shadow of 8 meters. What is the height of flag
post that cast a shadow of 18m?
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(a) [l4meter < 14|)|[10m 10| () [12m  Z12|@]|16m 16

(iv) If a bike covers 82.5 km in 5.5 litres of petrol, how much distance will it
cover in 13.2 litres of petrol?
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() |190km 25 190| (b) [188km 22 188| (¢) |186km 25 186 (d) [198km 22 198
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¥ Answer the following questions: ) -J )..,«LQLQUMJ; B 1O%)

Q.2. 10 men have ratio for 21 days in a camp. If 3 men leave the camp, for
how many days will the ration be sufficient for the remaining men?
Also draw its graph.
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Q.3. Shayan takes 200 steps for walking a distance of 160m. Find the distance
covered by him in 350 steps.

Wl pdH L3 Jb Lobkr 350 D200 L2 SE Lobgi 16008
Q.4. In 25 minutes a train travels 20km, how far will it travel in 5 minutes?
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1

Time: 10 Minutes | Paper Math 8 (T-3) |  Total Marks: 10 |

| 2nd Month, 3rd Week, 3rd Day | Exercise: 1.17 Q # (6,7.,8) |

Q.1. Choose the correct options. (1x4=4) - /&«G“"'IK_,LZ.:/»

(i) In 25 minutes a train travels 10 km how for will it travel in 5 minutes?

tfe S Aot U 5o BIE Lol 1K 20t 2250y Sf]

@2km  ZE2m)l4km  #E4|(©|okm  EFe|@)|skm £

(ii) A car travels 200km in 5 hours. How much time it will take to cover 600km?
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(iii) A 12 meter flag post cast a shadow of 8 meters. What is the height of flag
post that cast a shadow of 18m?
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(iv) If a bike covers 82.5 km in 5.5 litres of petrol, how much distance will it
cover in 13.2 litres of petrol?
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% Answer the following questions: 6) - ;ylﬁéaﬂlfgj’ 3t

Q.2. 10 men have ratio for 21 days in a camp. If 3 men leave the camp, for
how many days will the ration be sufficient for the remaining men?
Also draw its graph.
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Q.3. Shayan takes 200 steps for walking a distance of 160m. Find the distance
covered by him in 350 steps.
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Q.4. In 25 minutes a train travels 20km, how far will it travel in 5 minutes?
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